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Quiz #4, Math 102, Autumn 2007

1. a. Solve for y.

9x – 4y = 16
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b. Solve for F.
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2. If you deposit $10,000 in a CD earning 8.5% interest compounded quarterly, how much will be in the account at the end of three years?  You may use the formula: 
[image: image4.wmf]nt

n

r

P

A

÷

ø

ö

ç

è

æ

+

=

1

.

$12,870.19
3. Determine which quadrant each point is in or on which axis it lies, and graph the points on the graph (clearly label each point).

a. (3,2)   QI
b. (-5,2)   QII
c. (0.-3.5)  y-axis
d. (2,-1)  QIV
e. (-3,-1)  QIII
f. (4,0)  x-axis
g. (0,0)  origin
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